

| 2(9x + 4) = | |
|-------------------------|-------------------------|
| | 3(3x + 2) = |
| | |
| 6(3x + 6) = | 2(2x + 9) = |
| | |
| 8(2x + 7) = | 2(4x + 6) = |
| | |
| 2(4x + 9) = | 6(8x + 4) = |
| $\Omega(4\times\pm8)$ – | $\Omega(8\chi \pm 2) =$ |
| 9(4x + 0) = | 9(0X + 2) - |
| 6(9x + 3) = | 6(5x + 8) = |
| | |
| 2(9x + 5) = | 5(4x + 2) = |
| | |
| 8(8x + 2) = | 8(5x + 3) = |
| | |
| 9(6x + 5) = | 4(2x + 7) = |
| | |
| 8(4x + 9) = | 6(8x + 7) = |
| | |
| | |



| 2(9x + 4) = 18x + 8 | 3(3x + 2) = 9x + 6 |
|----------------------|----------------------|
| 6(3x + 6) = 18x + 36 | 2(2x + 9) = 4x + 18 |
| 8(2x + 7) = 16x + 56 | 2(4x + 6) = 8x + 12 |
| 2(4x + 9) = 8x + 18 | 6(8x + 4) = 48x + 24 |
| 9(4x + 8) = 36x + 72 | 9(8x + 2) = 72x + 18 |
| 6(9x + 3) = 54x + 18 | 6(5x + 8) = 30x + 48 |
| 2(9x + 5) = 18x + 10 | 5(4x + 2) = 20x + 10 |
| 8(8x + 2) = 64x + 16 | 8(5x + 3) = 40x + 24 |
| 9(6x + 5) = 54x + 45 | 4(2x + 7) = 8x + 28 |
| 8(4x + 9) = 32x + 72 | 6(8x + 7) = 48x + 42 |
| | |



| 6(9x + 3) = | |
|-------------|-------------|
| | 6(7x + 6) = |
| | 2(4x + 5) - |
| 2(0x + 7) = | 3(4x + 5) = |
| 3(8x + 9) = | 9(5x + 4) = |
| 4(7x + 2) = | 5(4x + 2) = |
| 4(7x + 5) = | 8(7x + 8) = |
| 7(9x + 2) = | 4(8x + 2) = |
| 9(4x + 7) = | 9(7x + 6) = |
| 3(2x + 5) = | 3(2x + 4) = |
| 3(6x + 4) = | 3(4x + 7) = |
| 2(4x + 6) = | 5(5x + 6) = |
| | |



| 6(9x + 3) = 54x + 18 | 6(7x + 6) = 42x + 36 |
|----------------------|----------------------|
| 2(6x + 7) = 12x + 14 | 3(4x + 5) = 12x + 15 |
| 3(8x + 9) = 24x + 27 | 9(5x + 4) = 45x + 36 |
| 4(7x + 2) = 28x + 8 | 5(4x + 2) = 20x + 10 |
| 4(7x + 5) = 28x + 20 | 8(7x + 8) = 56x + 64 |
| 7(9x + 2) = 63x + 14 | 4(8x + 2) = 32x + 8 |
| 9(4x + 7) = 36x + 63 | 9(7x + 6) = 63x + 54 |
| 3(2x + 5) = 6x + 15 | 3(2x + 4) = 6x + 12 |
| 3(6x + 4) = 18x + 12 | 3(4x + 7) = 12x + 21 |
| 2(4x + 6) = 8x + 12 | 5(5x + 6) = 25x + 30 |
| | |



| 5(5x + 8) = | |
|-------------|-------------|
| | 9(7x + 8) = |
| | |
| 3(7x + 2) = | 5(4x + 5) = |
| | |
| 9(8x + 6) = | 2(8x + 5) = |
| | |
| 5(5x + 8) = | 6(8x + 9) = |
| | |
| 8(7x + 8) = | 6(2x + 5) = |
| - / > | - / o _ o ` |
| 6(9x + 5) = | 5(2x + 3) = |
| 0/0×+ 7 | C(4)(1,2) |
| 8(8x + 7) = | 0(4x + 3) = |
| 8(2x + 3) = | 3(7x + 6) = |
| 0(2x + 0) = | 0(7X + 0) = |
| 4(5x + 8) = | 2(4x + 5) = |
| / | |
| 7(3x + 5) = | 9(4x + 7) = |
| | |
| | |
| | |



| 5(5x + 8) = 25x + 40 | 9(7x + 8) = 63x + 72 |
|----------------------|----------------------|
| 3(7x + 2) = 21x + 6 | 5(4x + 5) = 20x + 25 |
| 9(8x + 6) = 72x + 54 | 2(8x + 5) = 16x + 10 |
| 5(5x + 8) = 25x + 40 | 6(8x + 9) = 48x + 54 |
| 8(7x + 8) = 56x + 64 | 6(2x + 5) = 12x + 30 |
| 6(9x + 5) = 54x + 30 | 5(2x + 3) = 10x + 15 |
| 8(8x + 7) = 64x + 56 | 6(4x + 3) = 24x + 18 |
| 8(2x + 3) = 16x + 24 | 3(7x + 6) = 21x + 18 |
| 4(5x + 8) = 20x + 32 | 2(4x + 5) = 8x + 10 |
| 7(3x + 5) = 21x + 35 | 9(4x + 7) = 36x + 63 |
| | |

Online Maths Tutoring



| 9(7x + 9) = | |
|-------------|------------------|
| | 4(3x + 9) = |
| 3(4x + 8) = | 8(2x + 7) = |
| | $O(9\times + C)$ |
| O(3x + 7) = | 9(8x + 6) = |
| 6(5x + 4) = | 4(3x + 7) = |
| 8(5x + 3) = | 5(5x + 9) = |
| 2(9x + 7) = | 4(9x + 4) = |
| 2(9x + 2) = | 7(2x + 3) = |
| 6(5x + 8) = | 5(2x + 6) = |
| 7(2x + 5) = | 2(5x + 8) = |
| 7(2x + 8) = | 6(4x + 2) = |
| | |



| 9(7x + 9) = 63x + 81 | 4(3x + 9) = 12x + 36 |
|----------------------|----------------------|
| 3(4x + 8) = 12x + 24 | 8(2x + 7) = 16x + 56 |
| 6(3x + 7) = 18x + 42 | 9(8x + 6) = 72x + 54 |
| 6(5x + 4) = 30x + 24 | 4(3x + 7) = 12x + 28 |
| 8(5x + 3) = 40x + 24 | 5(5x + 9) = 25x + 45 |
| 2(9x + 7) = 18x + 14 | 4(9x + 4) = 36x + 16 |
| 2(9x + 2) = 18x + 4 | 7(2x + 3) = 14x + 21 |
| 6(5x + 8) = 30x + 48 | 5(2x + 6) = 10x + 30 |
| 7(2x + 5) = 14x + 35 | 2(5x + 8) = 10x + 16 |
| 7(2x + 8) = 14x + 56 | 6(4x + 2) = 24x + 12 |
| | |



| 3(2x + 9) = | |
|-------------|-------------|
| | 6(4x + 8) = |
| | |
| 5(6x + 4) = | 5(6x + 5) = |
| 6(7x + 9) = | 7(4x + 2) = |
| 4(6x + 9) = | 8(3x + 8) = |
| 7(6x + 4) = | 4(8x + 2) = |
| 4(4x + 6) = | 8(2x + 7) = |
| 8(3x + 8) = | 6(3x + 2) = |
| 5(4x + 8) = | 5(2x + 7) = |
| 6(6x + 7) = | 7(2x + 9) = |
| 3(5x + 2) = | 4(6x + 8) = |
| | |



| 3(2x + 9) = 6x + 27 | 6(4x + 8) = 24x + 48 |
|----------------------|----------------------|
| 5(6x + 4) = 30x + 20 | 5(6x + 5) = 30x + 25 |
| 6(7x + 9) = 42x + 54 | 7(4x + 2) = 28x + 14 |
| 4(6x + 9) = 24x + 36 | 8(3x + 8) = 24x + 64 |
| 7(6x + 4) = 42x + 28 | 4(8x + 2) = 32x + 8 |
| 4(4x + 6) = 16x + 24 | 8(2x + 7) = 16x + 56 |
| 8(3x + 8) = 24x + 64 | 6(3x + 2) = 18x + 12 |
| 5(4x + 8) = 20x + 40 | 5(2x + 7) = 10x + 35 |
| 6(6x + 7) = 36x + 42 | 7(2x + 9) = 14x + 63 |
| 3(5x + 2) = 15x + 6 | 4(6x + 8) = 24x + 32 |
| | |



Maths = standardised Children = Unique

Personalised online maths tutoring that goes beyond practice and builds your child's confidence at school

Enrol today



Online Maths Tutoring

https://clueylearning.com.au



WWW.CLUEYLEARNING.COM.AU